

ROMANIAN MATHEMATICAL MAGAZINE

If $x, y, z > 0, xyz = 1$ then:

$$\frac{x}{\sqrt{y^2 + z}} + \frac{y}{\sqrt{z^2 + x}} + \frac{z}{\sqrt{x^2 + y}} \geq \frac{3\sqrt{2}}{2}$$

Proposed by Shirvan Tahirov-Azerbaijan

Solution by Hai Duong-Vietnam

Let be $f, g: \mathbb{R}_+^* \times \mathbb{R}_+^* \times \mathbb{R}_+^* \rightarrow \mathbb{R}_+^*$

$$g(x, y, z) = 3^3 \sqrt{\frac{xyz}{\sqrt{(y^2 + z)(z^2 + x)(x^2 + y)}}}, f(x, y, z) = \frac{x}{\sqrt{y^2 + z}} + \frac{y}{\sqrt{z^2 + x}} + \frac{z}{\sqrt{x^2 + y}}$$

$$f(x, y, z) = \frac{x}{\sqrt{y^2 + z}} + \frac{y}{\sqrt{z^2 + x}} + \frac{z}{\sqrt{x^2 + y}} \stackrel{AM-GM}{\geq}$$

$$\geq 3^3 \sqrt{\frac{xyz}{\sqrt{(y^2 + z)(z^2 + x)(x^2 + y)}}} = g(x, y, z)$$

$$f(x, y, z) \geq g(x, y, z) \quad (1)$$

$$\frac{3\sqrt{2}}{2} = \frac{3}{\sqrt{1 + \sqrt[3]{xyz}}} = 3^3 \sqrt{\frac{1}{\sqrt{(1 + \sqrt[3]{xyz})^3}}} \stackrel{HOLDER}{\geq} 3^3 \sqrt{\frac{1}{\sqrt{(y^2 + z)(z^2 + x)(x^2 + y)}}} =$$

$$= 3^3 \sqrt{\frac{xyz}{\sqrt{(y^2 + z)(z^2 + x)(x^2 + y)}}} = g(x, y, z) \Rightarrow \text{Max} g(x, y, z) = \frac{3\sqrt{2}}{2} \quad (2)$$

By (1), (2):

$$\frac{x}{\sqrt{y^2 + z}} + \frac{y}{\sqrt{z^2 + x}} + \frac{z}{\sqrt{x^2 + y}} \geq \frac{3\sqrt{2}}{2}$$

Equality holds for $x = y = z = 1$